
Installation instructions
Range hood DI-SL9
Island hood
Operating modes: extracted air / recirculation air

J391.113-0
11.2.09  ITH
 

These installation instructions apply to the model: 391 (DI-SL9, construction width 90 cm)

 
Identification plate
A Remove grease filter. The identification plate is on the inside of the appliance.

Supplied installation accessories
All fixing elements are contained in the scope of delivery.

Extraction mode

 

A Information on the necessary mains voltage, type of current and fuse protection is to be obtained from the identification plate.
 

The appliance should be installed by qualified personnel only. Each step must be carried out and checked in full in the order
specified.

Validity

General notes

With the simultaneous operation of firing (e.g. wood, gas, oil or coal-fired heating systems), safe operation is only possible pro-
viding a room negative pressure of 4 Pa (0.04 mbar) is not exceeded at the location of the appliance. Risk of toxic fumes! An
adequate flow of fresh air must be guaranteed, e.g. via non-closable openings in doors and windows and combined with ven-
tilation wall bricks for incoming and exhaust air or by other technical means.
If the appliance is installed over hobs, each cooking zone must be fitted with an ignition fuse and the minimum distances (see
section «Dimensions») must be adhered to.

Efficient repairs can only be guaranteed if it is possible to disconnect the appliance at any time without causing any damage.

The extracted air must not be fed into a chimney which is used for exhausting fumes from appliances burning gas or other fuels.

Always observe the fire regulations.

Electrical connections

Electrical connections must be carried out by trained electricians in accordance with the guidelines and standards for low volt-
age installations and the specifications of the local electricity supply companies.
A plug-in appliance may only be connected to a socket outlet with earthing contact, installed according to specifications. A
mains isolating device with 3 mm contact opening should be provided in the house wiring system. Switches, plug and socket
devices, circuit breakers and fusible cut-outs which are accessible after installation and which have all-poles switching are per-
missible as isolating devices. Effective earthing and separately installed neutral and earth conductors ensure safe and fault-
free operation. After installation, live parts and cables with basic insulation must not be accessible. Old installations should al-
ways be checked.
1



Installation instructions
Range hood DI-SL9
Island hood
Operating modes: extracted air / recirculation air

J391.113-0
11.2.09  ITH
Indications
� Avoid routing the exhaust air pipeline to the side through the flue casing.
� Planning features for non-destructive de-installation and maintenance of the appliance:

– Do not route telescopic casing in suspended ceilings.
– Avoid silicon joints between the telescopic casing and the appliance.
– All plastering, plasterboarding, wall papering or painting work is to be carried out prior to the appliance installation.

Dimensions

Drill plan (view from above) Metal ring

* With metal ring: 588 mm
** Grid interval:   10 mm

Telescopic casing
(available in various heights)
Height A: A see planning documents for kitchen appliances

Distance above hob
Minimum height B:
For electric hob:
For gas hob:

min. 600 mm
min. 750 mm

Installation

600

54
8 

*

899

280

28
0

22
2

19
0

14

8

25 214

244

B
A

 *
*

10
0

ø 150

280280 ø 150

60

40
2



Installation instructions
Range hood DI-SL9
Island hood
Operating modes: extracted air / recirculation air

J391.113-0
11.2.09  ITH
Installation

1. Affix drilling template C to the ceiling. Drill 6 holes (ø 10 mm) and insert plugs.

2. Extraction mode:
Fix the exhaust air hose D to the exhaust air pipe (min. ø 150 mm) in the ceiling.

Recirculation mode:
Bolt the diverter piece E to the carrier support T1. Fix the extensions G to the flue width 
with screws. Fasten the exhaust air hose D to the diverter piece.

3. Set the carrier supports T1, T2 to the appropriate length (grid distance: 10 mm) and 
fasten securely with 8 screws S1 (ø 4 × 8 mm).

4. Fix carrier supports to the ceiling with 6 screws S2 (ø 6 × 70 mm).

5. Equip upper lagging sheets V1, V2 with castellated nuts M. Screw both halves 
together with the spring F and screw S3 (M4 × 7 mm). Slide from bottom onto carrier 
supports.

6. Screw in 4 screws S4 (ø 4 × 8 mm) at the bottom to carrier support T2. Hang the 
hood H in the key holes.

7. Remove grease filter.

8. Tighten screws S4 and additionally secure hood with 2 screws S5 (ø 4 × 8 mm) from 
below.

9. Connect ribbon cable connector plug J and 2-pole connector plug K. Ensure correct 
positioning of plug connector J!

10. Establish electrical connection (see section «Electrical connections»).

11. Fix metal ring R to the exhaust air connector and mount the exhaust air hose D. 
Ensure hose is free from kinks and is stretched.

12. Attach upper lagging sheets V1, V2 with 2 screws S6 (ø 3 × 9 mm).

13. Equip lower lagging sheet V4 with castellated nuts M and push from rear onto carrier support T2. Attach the lower lagging sheet V3 
from the front and screw both halves together with the spring F and screw S3 (M4 × 7 mm).

14. Install lower cover strips U2. Cut upper cover strips U1 to adequate length and install them.

15. Replace grease filter.

C

V2

U2T2

D

V3

S2

V1

V4

T1

U1

R

H

E

G T1

5./13. 14.

6./8.

9.

3.

T1

T2

S1

V1, V3

V2, V4

F

U2

U1

T2

H

S4

S5

12.

S6
V2

T1

V1

F U1
S3

S3

M

J
K

3


	Validity
	General notes
	Electrical connections
	Dimensions
	Installation
	Indications
	Installation



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


